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7.2 = phnunutip
7.3 g Jwpbjwhnnbp 15.1 15.1 15.1
7.4 g funuinhwpputip
7.5 5 wpnuubip 130.9 130.9 130.9
7.6 ~ wyl hnnkip
7 Cunwdbkup 4405.3 146.0 146.0 4259.3 13.0 4246.3
8.1 gbintip 427.4 427.4 0.1 427.3
8.2 2 opwdpwnubip 2871.2 12.0 12.0 2859.2 2859.2
8.3 E} [6bp 60.6 54.1 0.3 53.8 6.5 6.5




8.4 07 opwugpubin 313.7 220.8 220.8 92.9 92.9
8.5 @ hhnpnuinbuuhuywu W 108.8 29.1 29.1 79.7 79.7
8 Cunwdbkup 3781.7 315.9 0.3 315.7 3465.7 0.1 3465.7
9.1 2 wnnunubp
9.2 3 wywqgntinubp
93 3 Gwhhutn
9.4 =
9.5 F wj| wuoguwagnndtih hnnbip
9 @ Cunwdbup
LLAUUGLL <NEGN /142+3+4+5+6+7+8+9/ 268027.0 71864.6 543.7 121462.0] 369.0| 14356.7 106736.2 74136.6] 21374.0] 13790.8 38971.7 20.2
<uc4bSdnNh@3NhL
hnnwjhtu $nunh wnywnipjwu b pwafudwu
(puwn bywnwlwihtu Bpwuwynypjwl, hnnwwnbupbph nt gnpdwnuwlwu tywuwyniejwu b ubthwlwunyewu untptlnutiph )
wn 01.07.2016 .
Uwpq' Ujntuhp |
(wudwunidp) (Ynn) /hYunwnubipny/
3 Cunwdbup dwpgh Jupswlwu uwhdwuubpnid
:E . ubthwlwuntejwu untpjtiljn
s %‘ hwdwjupwihu whnwywu i
g 2 = % = o = o = 5 '5
3 z < 5 = = 2 3 3 - 2 =) = = 3
s <nnwunbup, gnpdwnuwlwu | £ & 2 g & € 3 3 i 3 = € 3 3 i 3 % 5 ’E < |
NN = 2 > ==y 7 s 3 € | 3¢ 5 s 3 & | 3 € =35 & §
=3 Upwwlnye)niu = ) 3 23 Lo} 3 e o g 2 28 o 3 & R 228 |[EE 2§
5 T = 3 32 o 5 £ 3 3 s 35 = s £ 3 3 233 (2855
EX 3 2 =2 2 Sg| 23| £3%2 = 35| 23 £32 |32 23
3 3 3 3 3 3 o 3 S 3 g3 5 B o 3 S 3 35 |5EE87
c 3 ~ = 3 B S = ¢
S 3 o = 3 3 S =3 g2 3 3 S =3 g2 © 5 3
3 5 N v =3 238 3 F 3 & R 3 g 3 35 Y
el a v v 2 £ > s = 3 £ = 5 = g
= =
u [ g 1 3 4 5 6 8 9 10 11 12
1.1 Juwpbjwhnnbip 43848.2 31439.5 140.1 10990.3 7.0 5374.9 5608.4 1278.4 499.6 778.8
1.2 3 pwadwdjw nuywpyutn, 1050.8 853.8 193.4 84.5 108.9 3.6 0.1 3.5
1.21 g wyn YN’ wuinwnnt wyghubp 981.5 805.7 172.3 73.4 98.8 3.6 0.1 3.5
1.2.2 £ fuwnnnh wyghubip 69.3 48.1 21.2 1.1 10.1
1.2.3 2 w)| pwquwdjw
1.3 3 funinhwppubip 8267.0 3753.2 2260.7 320.3 1940.4 2253.2 87.0 2166.1
1.4 dCT wpnuwdwypkip 145930.9 48.2 17.9 69922.0 8493.1 61428.8 75942.8 8726.8 67216.0
1.5 - wj| hnnwwnbupkip 107800.0 218.8 509.3 71860.5 2.0 2575.2 69283.3 35211.4 5.8 2411.2 32794.4
1 Cunwdbup 306896.9 36313.4 667.2 155227.0 9.0] 16848.0] 138369.9 114689.3 5.8 11724.9 102958.7
2.1 puwytih Yunniguwwndwu 5117.3 4975.2 1.9 130.2 0.2 1.5 128.4
2141 < wjn eYnud’ nuwdbipd hnnbip 4734.8 4725.5 9.3
2.1.2 Ji wjgbignpdwywu 250.2 247.3 2.7 0.2 0.2
2.2 = hwuwpwlwYywu 405.1 50.1 39.2 141.6 21.3 36.0 84.3 174.2 158.7 15.5
2.3 _-gr fuwnp Ywnniguuwwwndwu 105.0 1.0 0.8 103.2 12.5 90.7
2.4 5 punhwuntp ogunwgnpddwt hnnbip 1104.6 1104.6 18.0 1086.5
2.5 N wj| hnnbip 2455.8 1.6 0.1 2433.5 107.7 2325.8 20.6 20.6




2 Cunwdbkup 9187.7 5027.9 52.0 3913.0 21.5 175.8 3715.7 194.8 158.7 36.1
3.1 E: 5 =3 wpryniuwpbpwlwu opylwnubip 955.0 30.8 169.7 616.3 528.9 87.4 138.2 8.9 98.3 31.0
3.2 = . E 2 S|annuintntuwlw 848.4 79.9 49.9 604.5 2.4 37.6 564.5 114.1 2.4 1.7
33 [+ 3 3 é'{»g & wwhbunwnwubn 4.6 58 97 271 0.1 8.6 18.4
34 Cg . Jg E& g puntipph ogunwgnpddwl hwdwp 5220.6 721.2 561.6 159.6 4499.4 2394.1 2105.3
3 3 =) 3|Ccunwdtup 7066.6 116.5 229.3 1969.1 2.4 1136.7 830.0 4751.7 11.3 2492.4 2247.9
41 _-3: % § 3. |Eubipgbwnhlwyh 340.6 1.6 48.1 108.7 60.0 40.8 7.8 182.2 76.4 26.6 79.2
42 & = g 2 <lywup 16.9 10.5 4.0 0.5 3.5 2.4 2.3 0.1
4.3 % = 3 % 5 fé wnpwuuwnpup 714.7 1.1 20.3 0.5 0.1 0.4 692.8 28.3 9.1 655.4
4.4 § '5; 5 3 “lyndniuw) Bupwlwnnigywdpubiph 81.6 3.7 2.5 52.1 1.4 10.2 40.5 23.4 1.4 2.1 19.8
4 |+ s 33 Cunwdbup 1153.9 6.3 81.4 165.3 61.4 51.6 52.3 900.8 106.2 40.2 754.4
5.1 c puwwwhwwuwYwu hnnbip 65500.2 65500.2| 65128.9 371.3
5.1.1 El wjn eUYnd’ wpgbiingubip 11633.5 11633.5| 11569.8 63.8
5.1.2 % D% wngbwywpbn 19463.6 19463.6( 19156.1 307.5
513 ;g §L wqquihu wwpybp* 34403.1 34403.1| 34403.1
5.2 = g wnnnowpwpwywu 0.3 0.3 0.3
5.3 g g hwuguwnh hwdwp bwjuwwnbudwsd 82.1 8.8 52.7 9.0 43.7 20.7 9.3 1.4
5.4 \3/ wwwndwlwu b dawyntpwihu 1585.1 0.2 7.3 231.0 0.1 231.0 1346.6 50.0 1296.6
5 0 Cunwdbkup 67167.8 0.2 16.1 283.7 0.1 9.0 274.6 66867.8] 65178.9 9.3 1679.6
TE_
6 % 3 3 Cunwdbkup 679.9 679.9 218.8 461.1
22"
7.1 wuwnwnubip 427251 0.2 42724.9 76.1 42648.9
7.2 =3 pthniinubip 9628.7 9628.7 19.0 9609.7
7.3 g Jwpbjwhnnbp
7.4 g funinhwppubip 319.2 319.2 319.2
7.5 5 wpnuubip 1038.4 1038.4 1038.4
7.6 N wj| hnnbip 1110.7 1110.7 1110.7
7 Cunwdbup 54822.1 0.2 54821.9 95.1 54726.9
8.1 gbintip 1408.3 1408.3 0.4 1407.9
8.2 s opwdpwnubip 1806.8 34.6 34.6 1772.2 1762.8 9.4
8.3 % [6bp 160.6 64.0 64.0 96.6 96.6
8.4 O% opwugpubin 163.4 123.3 1.0 122.3 40.1 40.1
8.5 @ hhnpnuinGluuhywywu W 27.9 25.3 0.0 0.1 25.1 2.6 1.0 1.6
8 Cunwdbkup 3567.0 247.2 0.0 1.1 246.0 3319.8 1.0 1763.2 1555.7
9.1 S wnnunubp
9.2 % wywgntnubip
93 g Gwhhutn
9.4 <
9.5 FB wj| wuogwagnndtih hnnbip
9 @ Cunwdbup
LLAUUGLL <NEN /142+3+4+5+6+7+8+9/ 450541.8 41464.2 1046.2 161805.3 94.4] 18222.2] 143488.6 246226.11 65680.7 16125.1 164420.4

<Uc4bS4nhE@3NhL




hnnwjhtu $nunh wnywnipjwu b pwofudwu

(puwn bywinwlwihtu Bpwuwynypjwl, hnnwwnbupbph ni gnpdwnuwlwu Lywuwynipjwu b ubthwlwunyewu untptlnutiph )
wn 01.07.2016 .

Uwnq' Ywjng Anp |
(wudwunidp) (Ynn) /hbYunwnubipny/

3 Cunwdbup dwpgh Jupswlwu uwhdwuubpnid
CE ubthwlwuntejwu untpjtiljn
Er %‘ hwdwjupwihu whnwywu i
3 © < = =
3 z 4 5 ES = 2 =) =5 3 = =] =] 3 3 < = g
Py <nnwinbup, gnpdwnuwlywu | Z o 2 3 & = 3 s 3 3 = 3 = 2 3 5 = |

NN - = 2 o 32 7 s 3 & 3 & - s 3 & 3 & 53 % ¢
2 Lpwuwynip)niu s Q g a3 (e} 53 2 Qg 2 g "g & 53 2 o Z 2 =3 g s EQ g
3 by ol 3 3.3 ol S € 33 € 3 = = S c 33 S35 | @ 3 F
= 2 c 23 =2 3 g S SS & S 3 o = SSTE |32 cd
3 = 3 g =) w 3 S 3 3 3 S, = w 3 S 3 3 3 S, S s 53
S 3 o = 3 3 S 2 g2 3 3 S = g2 © 5 3
3 5 N v =3 238 3 F 3 & 29 3 g 3 35 Y
E) a v v 2 £ > s = 3 s = & = g
- =
u [ g 1 3 4 5 6 8 9 10 11 12

1.1 Juwpbjwhnnbip 15942.6 10716.9 21.6 4556.5 4.0 1063.8 3488.7 639.9 110.0 529.9 7.7

1.2 3 pwquwdjw wnulwpyubn, 1684.6 1354.3 44.0 286.3 214.0 72.3

1.21 3 wyn YN’ wuinwnnt wyghubp 862.8 703.5 3.0 156.3 101.1 55.3

1.2.2 Jé fuwnnnh wyghubip 821.8 650.9 4.0 129.9 112.9 17.0

1.2.3 2 w)| pwquwdjw

1.3 3 funinhwppubip 5014.3 2241.0 2171.5 200.1 1971.4 601.8 80.0 521.8

1.4 dCT wpnuwdwypkip 92275.2 794.8 66.3 60918.1 5341.1 55577.0 30483.6 2950.5 27533.1 12.4

1.5 - wj| hnnwwnbupkip 75397.6 190.0 32.4 62076.4 74.0 1810.9 60191.5 13098.8 540.0 12558.8

1 Cunwdbup 190314.2 15297.0 164.3] 130008.7 78.0 8629.8 121300.9 44824.2 3680.5 41143.7 20.1

2.1 puwybih Yunniguuwwwndwu 3217.0 3137.3 0.3 79.4 0.1 0.8 78.5

2141 < wjn eYnud’ nuwdbpd hnnbip 3137.7 3125.9 0.2 1.7 1.7

2.1.2 2 wjgbignpdwywu

2.2 = hwuwpwlwywu 224.5 81.4 8.1 58.3 0.5 6.8 51.0 76.6 9.3 67.3

2.3 _-gr fuwnp Ywnniguuwwwndwu 3.7 0.2 3.5 0.0 3.5

2.4 g punhwuntp ogunwgnpddwt hnnbip 491.0 491.0 491.0

2.5 N wj| hnnbip 1116.2 2.4 1113.8 0.6 1113.2

2 Cunwdbkup 5052.5 3221.4 8.4 1746.1 0.6 8.2 1737.3 76.6 9.3 67.3

3.1 E:‘ = =3 wnpryntuwpbipwlwu opjkyunubn 129.7 1.2 24.3 102.1 1.6 100.5 2.1 2.1

3.2 = 5 E 2 S|annuintuntuwlw 225.5 8.8 202.8 0.2 1.7 190.8 13.9 1.5 12.4

33 |s 3 %gg £ wwhbunuwpulbn 105 105 105

3.4 Cg Jg :é S puntipph ogunwgnpddwu hwdwp 1641.1 27.6 10.5 17.1 1613.5 1341.6 271.9

3 3 =) 3|Cunwdtup 2006.8 10.0 24.3 343.0 0.2 23.8 319.0 1629.5 1343.1 286.4

4.1 g % § 3. |Eubipgbwnhlwyh 81.8 5.0 14.0 9.3 3.8 55 53.6 45.1 2.2 6.3

42 £ = g 2 <lywup 6.2 0.2 2.0 2.0 4.0 4.0

4.3 % =35 5 fé npwuuwnpup 375.6 0.0 57.4 57.4 318.2 0.6 1.3 316.4

4.4 % '5; 5 ?é “lyndniuw) Bupwlwnnigywdpubiph 20.8 0.2 1.8 3.0 0.3 8.6 8.8 8.8

4 |+ s 33 Cunwdbup 484.3 5.1 14.2 80.4 3.0 4.1 73.4 384.6 45.6 3.5 335.5

5.1 c puwwwhwwuwYwu hnnbip 17248 .4 17248.4] 17094.0 154.4

5.1.1 3 wyn pYnd’ wpgkingutin




51.2 ;% D% wngbwywpbn 17248 .4 17248.4] 17094.0 154.4
5.1.3 % @ wqqwjhtu wwnytip*
5.2 = 3 wnnnowpwpwywu 24.6 2.3 22.3 22.3
5.3 § g hwuquwnh hwdwp twuwwnbudwsd 1.0 4.6 6.5 6.5
5.4 J wwwndwlywu b Jowynipwhu 885.3 99.1 99.1 786.3 786.3
5 0 Cunwdbup 18169.4 4.6 2.3 127.8 127.8 18034.7| 17094.0 940.7
= c
c = =]
6 % 3 3 Cunwdbkup 325 325 325
g 3 ¢
© S
7.1 wwnwnubip 10156.1 10156.1 10156.1
7.2 =3 pthniinubip 1147.9 1147.9 1147.9
7.3 g Jwpbjwhnnbp
7.4 g funinhwppubip 217.7 217.7 217.7
7.5 =] wpnuubip 311.8 311.8 311.8
7.6 N wj| hnnbip 1854.4 1854.4 1854.4
7 Cunwdbkup 13687.8 13687.8 13687.8
8.1 gbintip 562.7 562.7 10.2 552.5
8.2 s opwdpwnubip 246.1 0.7 22.6 22.6 222.8 222.8
8.3 % [6bp 19.4 0.1 18.2 1.1 17.1 1.1 1.1
8.4 O% opwgpubin 159.3 131.1 0.2 0.1 130.7 28.3 28.3
8.5 @ hhnpnuinbuuhyuywu W 47.9 6.5 25.5 0.2 25.3 15.9 15.9
8 Cunwdbkup 1035.5 7.3 197.4 0.2 1.5 195.7 830.8 10.2 820.6
9.1 2 wnnunubp
9.2 3 wywqntinubp
93 3 Gwhhutn
9.4 =
9.5 F wj| wuognwagnndbih hnnbip
9 @ Cunwdbup
LLAUUGLL NN /142+3+4+5+6+7+8+9/ 230783.0 18545.4 213.5 132503.4 82.1 8667.3 123754.0 79500.6] 17148.9 5037.3 57314.4 20.1
<uc4bSdnNhi@3NhL
hnnwjhtu $nunh wnywnipjw b pwfudwu
(puwn uywinwlwihtu Bpwuwynypjwl, hnnwwnbupbph nt gnpdwnuwlwu Lywuwyniejwu b ubthwlwunyewu untptlnutiph )
wn 01.07.2016 .
Uwpq' Swyntp |
(wudwunidp) (Ynn) /hbYunwnubipny/

Ynipjniu

Cunwdbup dwpgh Jupswlwu uwhdwuubpnid

+12)

ubthwlwuntejwu untpjtiljn

hwdwjupwihu

whnwywu

1l




3 2 £ 3 = . 5 3
Py <nnwinbup, gnpdwnuwlywu | Z o 2 3 & g 3 3 i 3 3 = 3 i 3 35 2 @
NN > = ] g 33 z 53 N I 5 53 s | 38, |53 &8¢
2 Upwwynejniy g o 3 g3 ) 22| 82 |33 S 22| 8= | BE38 |55 =3
3 by S| 3 3,9 ol S c = 3 c 3= = SIS = 3 S 3=F | &35
= = = =3 =3 3 o c = S 5 c S 3 o c = csc |3 224
3 3 3 33 3 3 S 3 g3 5 B 3 S 3 g3 5 |5 E 5
= 3 a = 3 g 5 ] 39 > =2 g s S 23 > [83% 5
3 5 Y v 5 ] 5| g% z B 5| 25 53
Ep a v v 2 £ > s = 3, £ = s = g
- =
u [ g 1 3 4 5 6 8 9 10 11 12
. wpbijwhn . . . . . . . . . .
1.1 Juwpbjwhnnbip 25577.7 18756.0 23.6 5905.8 563.2 5342.6 891.9 21.8 870.1 0.5
1.2 3 pwquwdjw wnulwpyubn, 1901.9 1440.0 12.8 442.4 125.9 316.5 6.7 6.7
1.21 3 wyn YN’ wuinwnnt wyghubp 704.0 283.8 12.5 400.9 118.0 283.0 6.7 6.7
1.2.2 Jé fuwnnnh wyghubip 1198.0 1156.2 0.3 4.5 7.9 33.6
1.2.3 2 w)| pwquwdjw
1.3 3 funinhwppubip 9401.3 4070.3 1683.1 23.9 1659.2 3648.0 3648.0
1.4 d% wpnuwywypkip 63065.1 54.3 2.7 24151.6 96.4 24055.2 38856.6 266.0 38590.6
1.5 - wj| hnnwwnbupkip 10805.4 45.6 99.8 7092.0 0.8 14.6 7076.5 3568.0 3568.0
1 Cunwdbkup 110751.5 24366.2 138.9 39274.8 0.8 823.9 38450.0 46971.2 287.8 46683.4 0.5
2.1 puwytih Yunniguwwndwu 6416.4 6319.3 6.6 88.1 0.2 5.4 82.5 2.3
2141 < wjn eYnud’ nuwdbnd hnnbip 6287.4 6253.8 0.4 311 0.1 31.0 2.1
21.2 Ji wjqtignpdwlywu 20.1 20.1
2.2 = hwuwpwlwywu 377.6 73.2 89.6 75.2 1.2 1.7 62.3 139.6 87.8 51.8
2.3 _-gr fuwnp Ywnniguuwwwndwu 31.5 0.6 5.4 23.9 0.5 0.4 23.1 1.6 1.6
2.4 g punhwuntp ogunwgnpddwt hnnbip 1143.6 1143.6 0.1 1143.5
2.5 o wj| hnnbip 2001.8 6.3 1985.4 2.6 1982.8 10.1 10.1
2 Cunwdbup 9970.9 6399.4 101.7 3316.2 1.9 20.3 3294.0 151.3 87.8 63.5 2.3
3.1 E:‘ 5 _ 3 wnpryntuwpbipwlwu opjkyunubn 166.3 15.0 57.2 93.6 1.4 92.2 0.6 0.6
3.2 = 5 E 2 S|annuntntuwlw 629.7 101.3 98.6 335.9 16.8 319.1 94.1 94.1
33 |s 3 %gg £ wwhbunuwpullbn 105 17 21 6.7 07 6.0
3.4 Cg Jg :é S|punbinph oquwgnpédwt hwdwp 347.3 4.3 4.3 342.9 44.7 298.3
3 3 2 3|Cunwdtup 1153.8 117.9 157.9 440.5 23.2 417.3 437.6 44.7 392.9
41 |7 <= § 3. |Eubipgbwnhlwyh 37.3 0.4 5.8 26.1 3.3 22.8 5.0 0.6 0.5 4.0
=
42 & i: g 2 <lywup 5.7 0.2 2.6 2.6 2.9 0.1 2.7
4.3 % =35 § fé wnpwuuwnpup 435.9 1.0 1.8 1.8 423.1 16.0 0.2 406.9
4.4 % '5; 5 ?é “lyndniuw) Bupwlwnnigywdpubiph 40.9 1.1 3.1 36.7 1.9 0.3 34.5
4 |+ s 33 Cunwdbkup 519.8 2.6 9.0 77.2 1.9 3.6 71.7 431.0 16.6 0.9 413.6
5.1 c puwwwhwwuwYwu hnnbip 32132.4 0.0 0.0 32132.4] 32055.3 8.5 68.6
5.1.1 % wyn pYnd’ wipghingutin
5.1.2 Ea D% wnabijwdwpbn 150.0 150.0 150.0
=
513 % §L wqquihu wwpybp* 31982.4 0.0 0.0 31982.4| 31905.3 8.5 68.6
5.2 = 3 wnnnowpwpwywu 20.0 20.0 20.0
5.3 § g hwuguwnh hwdwp twuwnbujwd 171.3 18.9 152.4 5.4 147.0
5.4 V) wwwndwlywu b dawyntpwihu 707.9 13.1 207.6 207.6 487.2 487.2
5 0 Cunwdkup 33031.6 18.9 13.1 380.0 5.4 374.6 32619.6] 32055.3 8.5 555.8




= c
£33
6 35 3 Cunwdbkup 245.9 245.9 6.2 239.7
g 3 ¢
N
© S
7.1 wuwnwnubip 107231.8 107231.8 0.8 107231.0
7.2 =3 pthniinubip 1291.5 1291.5 1291.5
7.3 3 Juwpbjwhnnbip 105.4 105.4 105.4
7.4 g funinhwppubip 4092.7 4092.7 4092.7
7.5 =] wpnuubip 430.7 430.7 430.7
7.6 N wyj| hnnbip 414.7 414.7 414.7
7 Cunwdbkup 113566.7 113566.7 0.8 113565.9
8.1 gbintip 599.8 599.8 1.7 598.1
8.2 2 opwdpwnubip 403.5 33.6 0.2 33.4 370.0 370.0
8.3 3 [6bp 35.3 35.3 0.1 35.2
8.4 O% opwugpubip 81.2 32.6 0.7 31.9 48.6 1.7 2.0 45.0
8.5 @ hhnpnuinbuuhyuywu W 38.5 22.5 0.2 22.3 16.1 16.1
8 Cunwdbkup 1158.3 123.9 1.1 122.8 1034.5 1.7 3.7 1029.1
9.1 2 wnnunubp
9.2 =) wywqntinubp
93 3 Gwhhutn
9.4 =
9.5 F wj| wuognwagnndtih hnnbip 0.4 0.4 0.4
9 i Cunwdbup 0.4 0.4 0.4
LLAUUGLL <NEM /14243 +4+5+6+7+8+9/ 270399.0 30904.9 420.5 43612.6 4.6 877.4 42730.5( 195458.2 32167.6 346.3 162944.3 2.8
<uc4tS4Nh@3NhL
hnnwjhtu $nunh wnlywnipjwu b pwfudwu
(puwn bywnwlwihtu Bpwuwynipjwl, hnnwwnbupbph ni gnpdwnuwlwu Lywuwyniejwu b ubthwlwunyewu untptlnutiph )
wn 01.07.2016 .
Lwdwjup' p. bplwu | |
(wujwunidp) (Ynn) /hbYunwnubpny/
3 Cunwdbup dwpgh Jupswlwu uwhdwuubpnid
:E . ubthwlwuntejwu untpjtiljn
s %‘ hwdwjupwihu whnwywu i
g %2 = 3 — o = o = 5 3
3 =z < 5 = ~ =2 — =2 S 3
Py <nnwinbup, gnpdwnuwlywu | Z & 2 3 & g 3 3 i 3 3 = 3 i El 352 4d
NN ) = 2 > = 2 s 3 & 3 & = s 3 & 3 & 53 %%
2 Lautiuliipind 5l < = | 23| & |23 |9 |23 | & |Z2%|sE|SE3|ELE]
3 T g 3 3,3 = 5 € EN c 3 = = s € 3 3 £33 |=& 33
s 3 5 =3 2 3 g S S = 5 3 S S5c2 |32¢cd
3 3 3 3 3 o 3 s 3 g3 5 B o 3 s 3 £35 |5sE&5 3
= 3 & = 3 3 5 2 g2 3 3 5 2 g2 S 5 3
3 5 N v =3 2 g 3 F 3 & R 3 g 3 335
E) a v v 2 3 > s = 3 £ = 5 = g
= =
u [ g 1 3 4 5 6 8 9 10 11 12
1.1 Juwpbjwhnnbip 915.4 334.8 15.5 565.2 565.2
1.2 3 pwadwdjw nuywpyutn, 301.7 190.7 28.5 82.5 82.5
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1 Cunwdbkup 2045472.2 | 435583.2 | 19665.8 | 959021.7 789.7 | 125702.3 | 832529.7 | 630674.6 192.3 95156.3 535326.0 526.8
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